( What am I? )

Add and use the letters to find the answer to the riddle

28 - 14= JL = 64 -32= JE
69 — 51 = |K @ 52-32= |T
29 - 13= JR 82 -11= |Q
87 - 50=( JO 25 - 13=[ JV

What has a neck but no head?

15 24 37 20 20 14 32
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( What am I? )

Add and use the letters to find the answer to the riddle

35 — 11 =(24|B
54 — 14 =(40|G & &
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74 — 20 =(54]V 28 — 13 =[15] A
28 — 14 =[14]L = 64 — 32 =(32]E
69—51=K§ 52 — 32 =(20]T
29 — 13 =(16]R 82 — 11 =(71]Q

87 — 50 =(37)0 25 — 13 =(12]V

What has a neck but no head?

15 24 37 20 20 14 32
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